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(VoD = +5V)

El'c')\f /0| SIGNAL E"c')\f /0| SIGNAL Z'(')\_' /0| SIGNAL EI'(')\_' /0| SIGNAL EI'(')\_' /0| SIGNAL
1|—| oND [43|0|xcGwEsa |85 | I | ADR4 [127] I | xLUTCS [169] O | DAD2
2|—] onp [44]0] xwclr |86 | 1| ADRs [128] 1 | xFwcs [170] o | DaD1
3 (o] Drs |45 0| mMDGe |87| 1| ADRe [129] 1| xcs [171] o] DaDo
4 o] Dr4 |46|0]| mpes [ss| 1| ADR7 [130]—| wvoo |172] 1| caAr2
5 (I0] DR3 |47]|0| mMDGa |89| 1| ADRs [131|—| onND [173] 1| caAmr
6 |I0] cppi |48 o] HVRe |90| 1| ADR9 [132|10| xREQ |[174] 1| caA10
7 [no| cpoo |49 [vo| HvrR7 91| 1| Apco [133] 1| TsT [175| 1| cA9
8 |o| MDR4 |[50[o] Hveo |92 1| ApGi [134]io| xack |176| 1| cas
9 |o| MbR3 |[51]—| oND |93 1| ApG2 [135] 1| xmrsT |177| 1| caA7
10/o]| Mbr2 [52]—] oND |94 1| ADG3 [136]i0| Hves [178] 1| cas
11 (10| Hvro [53]—| wvoo |95| 1| ADGa [137]io| HvBs |179] 1| cAs
12 [1o| HvRL |54 |[vo| Hvel |96| 1| Apes [138|io| HvB7 [180] 1| cas
13 (10| Hvr2 |55 |0] Hve2 |97 1| Apcs [139] o] DIR |181] 1| cA3
14— onDp |56 |10 Hves |98| 1| Apc7 [140] 0| xwee [182] —| oD
15|—| wvoo |57]0| MDG3 |99| 1| Apes [141]o| xwec [183]—| wvop
16 |II0] HVR3 |58 | 0| mMDG2 [100| I | ADGo [142] 0| xwer |184| 1| ca2
17 10| HvrRa |59 0| mpci [101]o| mpbBs [143] 0| xoE |185| 1| cA1
18 (10| HVR5 |60 | —| GND [102| 0| ™MDB4 [144| 0| xcAs |186| I | cAo
19 (10| Dpr2 |61 0| MDGO [103]| 0| MmDB3 [145| 0| xRAS |187|1W0| cPD7
20 [10| DR1 |62]| 0| mDB7 [104|—| Voo |146| 0| xRFC |188|wo| cPDe
21 |10| DRO |63]| 0| MDBs |105|—| GND |147| 0| xRTC |189|Wo| DG6
22/o0| MDRL |64| 0| xwrs |106|—| onND |148[vo| DB7 |190|10| DG5S
23|0| MDRO |65| 0| xwiLrs [107| 0| wmpB2 |[149]v0| DB [191|10| DG4
24| 0| MDG7 |66| 0| xwwnp [108] 0| mDB1 [150[10] DBS [192] —| GND
25/0| wck |67]|0] xwaAs [100/o| wmpBo [151] 0| DAD10 [193]—| VoD
26|—| GND |68|0| waD [110|10| HvB2 [152] 0| DAD9 |194|v0| DG3
27|—| wvoo |69 |wo| Hvea [111|mo| Hvez |[153] 0| DAD8 [195|10| DG2
28| 0| xweo1 |70 o] Hves [112|o| HveB4 [154] 0| DAD7 |196|10| DG1
29 | o | xcowor | 71 o] nvee [113] 1| abBo [155| —| oND  [197|wo| cPDs
30|0| xwee1 | 72| 1| Apro [114| 1| apB1 |[156] —| oND [198|10| cPD4
31|o|xcowel | 73| 1| abri [115] 1| abB2 [157]—| voo |199] —| GoND
32|0| xweo2 |74 o] ctp [116]| 1| aDB3 [158] 0| DAD6 |200{1O| cPD3
33|o|xcowo2 |75 | 1| xup [117] 1| abB4 [159] 0| DAD5 |201|1O| cPD2
3alo| xwee2 |76 | 1| wen [118] 1| apbBs [160] 0| DAD4 [202|10] DGO
35|0|xcewe2 | 77| 1| abck [119] 1| apbBe |[161] 0| DAD3 [203|10| DR7
36|0| XWeo3 |78 |—| voo |120| I | ADB7 |162|10| DB4 |204|10| DRS
37|00 |xcowos |79 | —| oND [121| 1 | aDBs |[163|10| DB3 |205/ 0| MDR7
38| 0| XWees |80 |vo| Hve7z |122| 1| ADB9 |[164]|10| DB2 |206] O| MDRS
39 | 0 | xcGwe3 | 81 10| HvBo [123/ 0| XINT |[165|—| GND |207| 0| MDRS
20 | 0| xweos |82 |wo| HveBl [124| o| xwaT |166|vo| DB1 |208] —| VoD
41| 0 |xcowoa | 83| 1| ADR2 [125| 1| xRE |[167|v0| DBO

42| 0| xweea | 84| 1| ADR3 [126] 1| xwe |168/10| DG7




